Potencias de 10 (E)

Calcule los siguientes productos y cocientes.

95 = 10°

8 x 10°

58 +10°

27+ 10°

79 +10°

37 =103

50+ 10°

5+10°

14=103

81 x 10°

45 x 10°

86+~ 10°

72+10°

5=103

57=10°

19=103

31+10°

58 +10°

69 x 103

74 x 10°
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Potencias de 10 (E) Respuestas

Calcule los siguientes productos y cocientes.

95+ 10°
0,095
8 x 10
8.000
58 +~10°
0,058
27 +10°
0,027
79 +10°
0,079
37 +10°
0,037
50+ 10°
0,05
5+10°
0,005
14+10°
0,014

81 x 103
81.000

45 % 10°
45.000
86 =103
0,086
72+ 10°
0,072
5+10°
0,005
57+ 10°
0,057
19+10°
0,019
31+10°
0,031
58 =10°
0,058
69 x 10°
69.000

74 x 103
74.000
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